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(d) Complete the adjustments column of the extended trial balance at
31 January 2019.

< (14)
=
wn Amit - Extended trial balance at 31 January 2019
E Balances Adjustments
E Debit Credit
= $ $ $
= 8% bank loan 14 400
E Allowance for doubtful debts 1530
Bank 3150
Equity 61320
f, General expenses 28 140
vvvv Motor vehicles - cost 36 000
Motor vehicles - accumulated depreciation 12 960
Opening inventory 32 200
Premises — cost 65 400
Purchases 92 830
Rental income 3500
Revenue 193 620
Trade payables 14710
Trade receivables 36 190
Wages and salaries 14 430

Allowance for doubtful debts — adjustment

Bank interest

Closing inventory — statement of financial position

Closing inventory — statement of profit or loss

Depreciation charge

Drawings

Irrecoverable debts

Other payables
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(Total for Question 1 = 19 marks)
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N\
(d) Prepare Chan’s capital account.
(5)
Capital Account - Chan
(e) Prepare an extract of the statement of financial position at 31 January 2019
showing the total liabilities section only.
(4)
Aysha and Binti
Statement of financial position at 31 January 2019
(Total for Question 2 = 22 marks)
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(iii) Explain the effect of the change in the inventory turnover ratio on the:
(4)

profitability ratios

liquidity ratios

(c) Prepare the telephone expenses account.

Telephone Expenses Account
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Alex received orders from credit customers on 31 January 2019 for delivery and
payment in February 2019. He did not include these in the current year’s revenue.

(c) State which accounting concept Alex followed.

(1)

(d) Discuss whether Alex should maintain a trade receivables ledger control account.

You must justify your decision.

(Total for Question 4 = 18 marks)
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Maipart plc

Statement of cash flows for the year ended 31 December 2018
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